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General Instructions to the Candidate : 

1.  This question paper consists of objective and subjective types of 

45 questions. 

2.  This question paper has been sealed by reverse jacket. You have to cut 

on the right side to open the paper at the time of commencement of the 

examination. Check whether all the pages of the question paper are 

intact. 

3. Follow the instructions given against both the objective and subjective 

types of questions. 

4.  Figures in the right hand margin indicate maximum marks for the 

questions. 

5. The maximum time to answer the paper is given at the top of the 

question paper. It includes 15 minutes for reading the question paper.
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I. Four alternatives are given for each of the following questions / 

incomplete statements. Only one of them is correct or most 

appropriate. Choose the correct alternative and write the 

complete answer along with its letter of alphabet : 6 × 1 = 6 

1. He has been sleeping ..................... 6 O’clock. 

 The appropriate preposition to be filled in the blank is 

 (A) for (B) since 

 (C) on (D) in 

2. Do you enjoy ...................... cricket ? 

 The correct form of the verb to be filled in the blank is  

 (A) to play (B) to playing 

 (C) for playing (D) playing 

3. Love swells like the solway, but ebbs like its tide. 

 The figure of speech used here is 

 (A) Synecdoche (B) Metaphor 

 (C) Simile (D) Personification 
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4. He hasn’t finished his work yet, ..................... . 

 The appropriate question tag to be added is 

 (A) have he ? (B) has he ?  

 (C) had he ? (D) hadn’t he ? 

5. .................... pen is mightier than ................. sword. 

 The appropriate articles to be filled in the blanks are 

 (A) A, the (B) The, a 

 (C) An, the (D) The, the 

6. Trust in God ......................... do the right. 

 The appropriate conjunction to be filled in the blank is 

 (A) both (B) so 

 (C) and (D) because 

II. Observe the relationship in the first pair of words and complete 

the second pair accordingly in the following : 4 × 1 = 4 

7. Rode : Road :: Night : ........................... . 

8. Permit : Prohibit :: Optimistic : ...................... . 
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9. Develop : Development :: Prefer : ........................... . 

10. Freeze : Froze :: Strive : ............................ . 

III. Rewrite as directed : 3 × 1 = 3 

11. Rewrite using ‘so .... that .... not’. 

 We are too poor to stay in such a hotel. 

12. Change the voice of the sentence :  

 Some boys were helping the wounded man. 

13. Rewrite the sentence into Exclamatory sentence : 

 She dances very beautifully. 

IV. Answer the following questions in a sentence each : 4 × 1 = 4 

14. How much money did Della get for her hair ? 

15. Which station did the blind girl get into the train ? 

16. Who ran like “a pair of high-stepping hackneys” ? 

17. Who was Lochinvar ? 
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V. Answer the following questions in two to three sentences each : 

   7 × 2 = 14 

18. What changes occur in the girl’s behaviour, when the wrong man 

offered to make ribbons for her ? 

19. “Most of the Merchandise is absolutely unessential to human 

health and happiness.” Why ?  

20. Why does the poet use the expression ‘yellow leaves’ in the poem 

Sonnet 73 ? 

21. What stealthy act does the boy commit ? 

22. Why had Buttoo gone to Dronacharya, and how did Drona 

respond to Buttoo’s request ? 

23. Why was Capt. Smollet unhappy ? 

24. How do the brave Greeks blind the cyclops ? 

VI. Rewrite as directed : 3 × 2 = 6 

25. Change the following sentence to reported speech : 

 The teacher said to the students, “Work hard and be regular in 

your studies”. 
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26. Change the following sentence to the other two degrees of 

comparison : 

 Very few philosophers are as great as Vivekananda in the world. 

27. Combine the sentences using : 

 a) As soon as ................ 

 b) No sooner ............... than. 

 She began reading the novel. Someone knocked at the door. 

VII. Answer the following questions in five to six sentences each : 

   6 × 3 = 18 

28. Explain how Pasteur proved himself to be useful to a 

manufacturer in Lille. 

29. How does the poet bring out the agony and desperation of the 

female crane in the poem ? 

30. Describe the ideas of spirituality as explained in the poem 

‘Vachana’. 

31. How do nature and hunters disturb the stones on the wall ? 

32. Explain the incident which made Parasurama realise that Karna 

was not a Brahmana. 
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33. Illustrate how the young students of Germany pay homage to 

Anne Frank. 

OR 

 Why does Gandhiji say that Alexander’s conquests cannot be 

called moral action ? 

VIII. Explain with reference to the context : 5 × 3 = 15 

34. “Take yer hat off and let’s have a sight at the looks of it.” 

35. “Thank goodness it’s a short journey.”  

36. “But make it seven days and squint slightly.” 

37. He rode all unarm’d and he rode all alone. 

38. Men triumph over women still, 

 Men trample women’s right at will, 

IX. Quote from memory : 1 × 4 = 4 

39. I was angry ...................................... 

 ........................................................ 

 ........................................................ 

 ................................ wrath did grow. 

OR 
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 He staid not .................................... 

 ........................................................ 

 ........................................................  

 ......................................... came late : 

X. Answer the following questions in seven to eight sentences each :  

   3 × 4 = 12 

40. Enumerate the values which the poet-father wants the teacher to 

teach his son. ( Any eight ) 

41. What does C. V. Raman say about the beauty of country-side and 

rain-fed tanks ? 

OR 

 “The writer compares Della’s hair and Jim’s watch to the Queen 

of Sheba’s jewels and King Solomon’s treasure.” Explain. 

42. Illustrate the difference between Mechanical act and Intentional 

act. 

OR 

 Describe the experiment conducted by Louis Pasteur to cure 

Anthrax. 
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XI. Read the following passage carefully and answer the questions 

given below :  1 × 4 = 4 (2 × 2) 

 The greatest defect of our civilization is that it does not know what to 

do with its knowledge. Science has given us powers fit for the Gods, 

yet we use them like small children. For example, we do not know how 

to manage our machines. Machines were made to be man’s servants ; 

yet he has grown so dependent upon them that they are in a fair way 

to become his masters. Already most men spend most of their lives 

looking after and waiting upon machines. And the machines are very 

stern masters. 

 They must be fed with coal, and petrol to drink and oil to wash with, 

and they must be kept at the right temperature. And if they do not get 

their meals when they expect them, they grow sulky and refuse to 

work, or burst with rage and blow up, and spread ruin and 
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destruction all around them. So we have to wait upon them very 

attentively and do all that we can to keep them in good temper. 

Already we find it difficult either to work or play without the machines 

and a time may come when they will rule us all-together just as we 

rule the animals. 

 Questions : 

43. a) Why were the machines first made and what has happened 

now ? 

 b) How do machines react if they are not given food at the 

expected time ? 

XII. Write an essay of about 18-20 sentences on any one of the 

following topics : 1 × 5 = 5 

44. a) Environmental pollution and protection 

 b) Dowry a social evil. 
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XIII. Imagine you are Bhavidhar / Bhavya of Government High School, 

Gulbarga.  

45. Write a letter to your friend telling him / her about the 75th 

Independence Day celebration in your school.  1 × 5 = 5 

OR 

 Imagine you are Chandrakanth / Chandralekha of 

Government High School, Bengaluru. 

 Write a letter to the Health Officer, BBMP complaining against 

insanitary conditions of the colony you live in. 
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